
Integralrechnung

Aufleiten mit der Potenzregel

Berechne die Stammfunktionen F (x) der folgenden ganzrationalen Funktionen f(x):

f(x) = 2x3 + 5x2 − 3x+ 1a)

f(x) = 4x4 − 2x3 + 1
2x

2 + 7b)

f(x) = −3x5 + 2x4 + 3
4x

3 − 5x2 + 2
3c)

f(x) = 6x3 − 8x2 + 5
2x− 1d)

f(x) = 1
2x

4 + 3
5x

3 − 2x2 + 4xe)

f(x) = −x5 + 7
2x

4 − 3x3 + 2x2 − 5xf)

f(x) = 3x4 + 4
3x

3 − 2x2 − 5
2x+ 1g)

f(x) = 2x3 − 1
2x

2 + 4x− 3h)

f(x) = 5x4 − 2x3 + 3
4x

2 + 1i)

f(x) = −4x5 + 3
2x

4 − 7x3 + 2x2 − 1j)
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Integralrechnung

F (x) = 1
2x

4 + 5
3x

3 − 3
2x

2 + x+ Ca)

F (x) = 4
5x

5 − 1
2x

4 + 1
6x

3 + 7x+ Cb)

F (x) = −1
2x

6 + 2
5x

5 + 3
16x

4 − 5
3x

3 + 2
3x+ Cc)

F (x) = 3
2x

4 − 8
3x

3 + 5
4x

2 − x+ Cd)

F (x) = 1
10x

5 + 3
20x

4 − 2
3x

3 + 2x2 + Ce)

F (x) = −1
6x

6 + 7
10x

5 − 3
4x

4 + 2
3x

3 − 5
2x

2 + Cf)

F (x) = 3
5x

5 + 1
3x

4 − 2
3x

3 − 5
4x

2 + x+ Cg)

F (x) = 1
2x

4 − 1
6x

3 + 2x2 − 3x+ Ch)

F (x) = x5 − 1
2x

4 + 1
4x

3 + x+ Ci)

F (x) = −2
3x

6 + 3
10x

5 − 7
4x

4 + 2
3x

3 − x+ Cj)
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